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QUESTION 1

Refer to the exhibit, which shows the output of a debug command. 

Which two statements about the output are true? (Choose two.) 

A. The local FortiGate OSPF router ID is 0.0.0.4. 

B. Port4 is connected to the OSPF backbone area. 

C. In the network connected to port4, two OSPF routers are down. 

D. The local FortiGate is the backup designated router. 

Correct Answer: AB 

Area 0.0.0.0 is the backbone area. 

 

QUESTION 2

How does FortiManager handle FortiGuard requests from FortiGate devices, when it is configured as a local FDS? 

A. FortiManager can download and maintain local copies of FortiGuard databases. 

B. FortiManager supports only FortiGuard push to managed devices. 

C. FortiManager will respond to update requests only if they originate from a managed device. 

D. FortiManager does not support rating requests. 

Correct Answer: A 

 

QUESTION 3
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Examine the partial output from the IKE real time debug shown in the exhibit; then answer the question 

below. 

Why didn\\'t the tunnel come up? 

A. IKE mode configuration is not enabled in the remote IPsec gateway. 

B. The remote gateway\\'s Phase-2 configuration does not match the local gateway\\'s phase- 2 configuration. 

C. The remote gateway\\'s Phase-1 configuration does not match the local gateway\\'s phase- 1 configuration. 

D. One IPsec gateway is using main mode, while the other IPsec gateway is using aggressive mode. 

Correct Answer: C 

 

QUESTION 4

A FortiGate has two default routes: 

All Internet traffic is currently using port1. The exhibit shows partial information for one sample session of Internet traffic
from an internal user: 
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What would happen with the traffic matching the above session if the priority on the first default route (IDd1) were
changed from 5 to 20? 

A. The session would be deleted, and the client would need to start a new session. 

B. The session would remain in the session table, and its traffic would start to egress from port2. 

C. The session would remain in the session table, but its traffic would now egress from both port1 and port2. 

D. The session would remain in the session table, and its traffic would still egress from port1. 

Correct Answer: D 

 

QUESTION 5

Which the following events can trigger the election of a new primary unit in a HA cluster? (Choose two.) 

A. Primary unit stops sending HA heartbeat keepalives. 

B. The FortiGuard license for the primary unit is updated. 

C. One of the monitored interfaces in the primary unit is disconnected. 

D. A secondary unit is removed from the HA cluster. 

Correct Answer: AC 
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